71 Al A & T 20094 A F1 (2674) A

2009. 3. 27.

1.[44] b= 4 M=
(a) 93t4 x5S ot Alsystem)®] A3 H(free
response)?} A|-EH(forced response)e] & A3}
Aol H-& A stet.

(b) 1A% vz Al A

al
quency)® FoldAlE AR, A¥EAAS 27|

$3he] pAz gretel,

2ol NEgom wete
o

%4 (natural fre-

IS
(@) A4 HFdest e TedEe] AFEA=

(free-body diagram)< Z+z} 1 e}

(b) FE WA gl T gule BY PR
22) AN S, ATA SEYAAS fEse,

root-mean-square % z, & T3t
2z (mm)
2 — ey R—
1
T zqdds5dq ™)
-1
_______________ b I~
2. () mz + kx =0
3. @ p/py, =2 ) 2,,, = 1.414 mm
. k
4. (E‘FMLU + k—!——;)x =0
2 T
5. @0 MmX
6. () w, = 20.0 radfs, ¢ = 0.250

wy = 19.36 rad/s, T = 0.324 s
(b) 4 = 25.3 mm, ¢ = 261.7° £+ 4.57 rad

4.[47] Use the energy method to obtain the

equation of motion of a steering mechanism,
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6. (@ m = 15 kg, ¢ = 150 N/(m/s), k = 6000 N/m
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(b,¢) w, = 300 rad/s, ¢ = 0.150, 2(0) = -25 mm, z(0) = 40 mm/s

wy = V1 —0.150% (300 rad/s) = 297 rad/s

Cw, = (0.150)(300 rad/s) = 45 rad/s
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¢ = tan '(6.85) = 81.7°, 261.7°,
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